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BlEE 2

No. [ B& HESA W H S8 2E

1 1 [=m= 1,860 3,530 2 M |AZ2yF 525 (UTON-25)
2 1 | 1,850 3,530 2 M |AZ2yF I 525 (UTON-25)
3 1 | 1,790 2,430 1 A |A=2yF9 52 v25 (UTCN-25)
4 1 | 2,790 2,430 1 A |A=2yF 952 v25 (UTCN-25)
5 1 | 1,830 2,430 1 A |A=2yF 952 v25 (UTCN-25)
6 1 | 2,235 2,430 4 PFET|AZ8yF I 5 v25 (UTON-25)
7 1 | 930 2,430 2 M |AZ4yF T Y25 (UTON-25)
8 B 2,235 2,430 1 DR |A=42yF9 52925 (UTCN-25)
9 1 |n 930 2,430 1 2 |A=42yF95>2v25 (UTCN-25)
10 1 |» 2,235 3,500 1 2 |A=42yF952v25 (UTCN-25)
1| 1 I= 2,270 2,430 1 2R |A=42yF9 52925 (UTCN-25)
12 | 1 |#x=C 2,235 2,430 1 2R |A=42yF49 52925 (UTCN-25)
13| 1 |n 2,310 2,430 1 2R |A=42yF9 52925 (UTCN-25)
14 1 |» 930 2,430 1 2R |A=42yF9 52925 (UTCN-25)
15 | 1 |#=x=8 2,235 2,430 2 AT |A=2yF 75 v25 (UTCN-25)
16 | 1 |» 930 2,430 1 DR |A=42yF9 52925 (UTCN-25)
17 | 1 |#Ex=A 2,310 2,430 3 MAT|A=4yF ¥ 5> v25 (UTCN-25)
18 1 [n 930 2,430 2 BFT|A=2vFY T Y25 (UTCN-25)
19 1 |n 2,240 2,430 1 AFF|2=8yF 55> v25 (UTCN-25)
20 | 1 == 2,380 1,420 1 2R |A=42yF9 52925 (UTCN-25)
21 | 1 = 2,180 1,420 1 2R |A=42yF9 52925 (UTCN-25)
22 | 1 |#z=3 2,380 1,420 1 2R |A=42yF9 52925 (UTCN-25)
23 | 1 |gz=2 2,380 1,420 1 2R |A=42yF9 52925 (UTCN-25)
24 | 1 |EI=E1 2,380 1,420 1 2R |A=42yF9 52925 (UTCN-25)
25 | 1 |mm= 2,380 1,420 1 2R |A=42yF9 52925 (UTCN-25)
26 | 1 |u 2,380 1,420 1 2| A=42 vy FF5>v25 (UTCN-25)
27 | 2 |BIRAR—LR—X 1,080 2,030 2 AT | 2A=2yFJ5>v25 (UTCN-25)
28 | 2 [u 1,010 2,030 1 AT |2A=2vyFJ 52 Y25 (UTCN-25)
2 | 2 [u 1,990 2,030 3 mAT|A=%vyFU 5> v25 (UTCN-25)
30 | 2 |u 920 2,030 1 M |2A=%2yFJ 52 v25 (UTCN-25)
31| 2 |EAESHUY 1,840 2,030 3 MAT|A=%vyFU 5> v25 (UTCN-25)
32 | 2 |u 925 2,030 2 AT | 2A=2vyFJZ5>v25 (UTCN-25)
33 2 [u 1,790 2,030 1 AT |2A=42yFY 52 v25 (UTCN-25)
34 | 2 |u 910 2,030 1 M |2A=%2yFJ 52 v25 (UTCN-25)
35 | 2 |u 1,660 2,030 1 M |2A=%2yFJ 52 v25 (UTCN-25)
36 | 2 |u 810 2,960 1 AT |2A=2vyFJ 52 Y25 (UTCN-25)
37 | 2 [u 1,105 2,960 7 WAt |l A=2vFT 5> v25 (UTCN-25)
38| 2 |u 1,085 2,960 1 M |A=%2yFJ52v25 (UTCN-25)
39 | 2 |BFR=EH 2,300 2,030 1 M |A=%2yFJ52v25 (UTCN-25)
40 | 2 |HIR=G 2,300 2,030 1 M |A=%2yFJ52v25 (UTCN-25)
41 | 2 |BFR=F 2,300 2,030 1 M |A=%2yFJ52v25 (UTCN-25)
42 | 2 BIR=E 2,300 2,030 1 M |A=%2yFJ52v25 (UTCN-25)
43 | 2 |#HESIVY 2,380 2,030 1 M |A=%2yFJ52v25 (UTCN-25)
a4 | 2 |u 1,140 2,940 1 M |A=42yFJ52v25 (UTCN-25)
45 | 2 |n 1,190 2,940 1 M |A=42yFJ52v25 (UTCN-25)
46 | 2 [BIF=EB 2,300 2,030 1 A |A=42yFJ52v25 (UTCN-25)
47 | 2 |BIF=EA 2,300 2,030 1 M |A=42yFJ52v25 (UTCN-25)
48 | 2 |BIR=D 2,300 2,030 1 M |A=42yFJ52v25 (UTCN-25)
49 | 2 |HIER=C 2,270 2,030 1 M |A=42yFU52v25 (UTCN-25)
50 | 2 |HFR=EB 2,300 2,030 1 M |2a=42yFY52v25 (UTCN-25)




BlEE 2

No. | B HEH W H L= BE

51 2 |HAEE A 2,270 2,030 1 AR | aAzZ2yF 4572 v25 (UTCN-25)
52 | 2 |HM=E 1,010 2,030 1 AR | AzZ2yF 4572 v25 (UTCN-25)
53 | 2 |&E=R 1,010 2,030 1 AR | aAzZ2yF 4572 v25 (UTCN-25)
b4 | 2 |u 2,150 2,030 1 AR | aAzZ2yF 4572 v25 (UTCN-25)
55 | 2 |y avE 2,300 2,030 1 AR | aAzZ2yF 4572 v25 (UTCN-25)
56 | 2 |nu 2,300 2,030 1 AT |azZ2yF 457> v25 (UTCN-25)
57 | 2 |n 1,010 2,030 1 AR | azZ2yF 4572 v25 (UTCN-25)
58 | 2 |BREEA 2,300 2,030 1 AT | azZ2yF 457> v25 (UTCN-25)
59 | 2 [REAYH—= 1,080 2,030 1 AR |azZ2yF 457> v25 (UTCN-25)
60 | 2 |BRE=EB 2,300 2,030 1 AR | azZ2yF 457> v25 (UTCN-25)
61 2 |Byh—%E 1,080 2,030 2 DET|AZ2yF T Z w25 (UTCN-25)
62 1 |RB=E 1,190 3,100 2 DT |Fz—rY 74— (RSC-0)

63 1 |n 1,035 3,100 5 AR |Fxz—>rY 74— (RSC-0)

64 | 1 |nu 1,075 3,100 2 AF|Fz—>rY 74— (RSC-0)

65 1 |n 1,080 3,100 4 AT |Fz—vY T 14— (RSC-0)

66 1 | EEEHEEE 895 3,100 1 | Fxz—rY 74— (RSC-0)

67 1 |u 1,750 3,100 1T M |[Fz—>Y 74— (RSC-0)

68 1 |u 1,800 3,100 1T MR |[Fz—>Y 74— (RSC-0)

69 1 |u 960 3,100 1T M |[Fz—>Y 74— (RSC-0)

70 1 |BEREC 895 3,100 2 BET|Fz—rY 74— (RSC-0)

71 1 |u 1,035 3,100 4 MFF|Fz—vY T 4— (RSC-0)

72 1 |ERESB 895 3,100 2 BET|Fz—rY 74— (RSC-0)

73 1 |u 1,890 3,100 2 BET|Fz—rY 74— (RSC-0)

74 1 |EREA 895 3,100 2 BET|Fz—rY 74— (RSC-0)

75 1 |u 1,890 3,100 2 BET|Fz—rY 74— (RSC-0)

76 1 |u 895 3,100 2 BET|Fz—rY 74— (RSC-0)

77 1T | 1,890 3,100 2 DT |Fz—>rY 74— (RSC-0)

78 1 [EE=E 890 3,100 2 DT |Fz—>rY 74— (RSC-0)

79 1T | 1,085 3,100 4 hfr|Fxz—rY 74— (RSC-0)

80 1T B2 1 890 3,100 1 M| Fxz—>Y 74— (RSC-0)

81 1T | 1,860 3,100 1 M| Fxz—>Y 74— (RSC-0)

82 1T |82 890 3,100 1 M| Fxz—>Y 74— (RSC-0)

83 1T | 1,710 3,100 1 AT |Fxz—>Y 74— (RSC-0)

84 1 | 223 900 3,100 1 M| Fxz—>Y 74— (RSC-0)

85 1T | 1,130 3,100 1 M| Fxz—>Y 74— (RSC-0)

86 1T | 1,120 3,100 1 M| Fxz—>Y 74— (RSC-0)

87 1T |EE 900 3,100 1 M| Fxz—>Y 74— (RSC-0)

88 1 | 1,310 3,100 1 M| Fz—>Y 74— (RSC-0)

89 2 |BIEIKR—LR—X 900 3,100 2 DFET|Fz—>rvY 74— (RSC-0)

90 2 |u 1,040 3,100 5 M |Fz—>rVY 74— (RSC-0)

91 2 BETUUY 1,820 3,100 2 DFET|Fz—>rvY 74— (RSC-0)

92 | 2 |BRE=EAB 890 3,100 2 AET|Fz—rY 74— (RSC-0)

93 2 |u 1,670 3,100 1 M| Fz—>Y 74— (RSC-0)

94 2 |u 1,460 3,100 1 M| Fz—>Y 74— (RSC-0)

95 2 |u 1,690 3,100 1 M| Fz—>Y 74— (RSC-0)

96 2 |u 1,800 3,100 1 M| Fz—>Y 74— (RSC-0)

97 2 |XYaAVE 895 3,100 2 AT | Fz—>rY 74— (RSC-0)

98 2 |u 1,730 3,100 2 DFET|Fz—>rvY 74— (RSC-0)

99 | 2 |&E=E 900 3,100 T MR |Fz—>Y 74— (RSC-0)

100 2 |# 950 3,100 3 MFr|Fxz—rY 74— (RSC-0)




